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Xi)

xii)

Xil)

Xiv)

Q.1 Choose the correct option:
) Ifz-[3 4],thenz S

Aty o
R il (At
iy ())=
A 1 B) -1 C) i D) -

i)  Characteristics of log 0.000059'is: |
A) 5 - B 5 - C -4 D4
v) (atb+cfs=
a) a*+b’+c’ b) a’b%c? + 2(atbtc)

c) a'+blec’+2abeberca) d) atbic+2 @@ﬁﬂ

v)  Zeroof polynomxal P(x) @
SRS

A) 0
vi) % +ab+b2|s
a’ +ab + b’

¢) ra=b d) (a-b)
vii) ~ Solve x, vx =-10 4

Ay (100 B) ()} ©) {100 D) {10}
vii) 6C°= ___F

A 39 BB C) 36 D)4
ix)  Distance between (3, -5) and (5, <7) is:

A 5V B)4V2 C) 327 D) 24

x)  Which quadrilateral must have diagonals that

concurrent and perp'endiculaﬂ

a) Rhombus . - Square

- ¢) Trapezoid ) Parall ru @@
A polygon with four sudemﬁ@ﬂﬂ
\ Pentagon
[ B

d) Triangle

If in the ﬂgure "P* noint lies outside AB'm PR will be

shortest distance of m<PRA= =
e & O W

A) 180° B) 48°- C) 100° D) 90°
The measure of a line segment joining the mid points of
the AB and AC of AABC is 3.5cmthenmBC=_ .
A) 45cm° B) 55m  C) 6cm - D) ZOem
If two trianQIes have equal bases and equal altitudes,
what else will they have equal?

A) Area B) Periméter C) Angles D) None
Altltudes of friangle are_____

a) Equal in length b) Equal distance from vertices

¢) Concurrent d) Perpendicular bisector




